1k ﬁi(“ ) ?ﬁﬁi =4 AP EFAEE S e A 5 5 B
1 - 'riuj L BV EREFEREE 100% | By peadditdd
e S0P % g | RN 0% | 2 |BEseans
=y _ 4 — 0% 3 |-
N [60-052 s 1 L =
B!
2P _ ey
ﬁﬂi%?’* 500 7B GF
e
. = A 3R &
PIREATE (nessron (o) HII05 2R BB ED  — Ed YR 4T FRERE AL |,
"L—Bﬁpf‘ R 21:002 EREEZES S 5 ‘ﬁf’?i’“‘ll{ﬂ?igﬁ ¥o- Al
= e 2 4 8 (PDPAE)
LI ROTPEL | g BlRuERERR Y FY S 91
2T i E S A T T TG SEE 1
pEE R _ i | EA%) C.5~4m: 5
XEPY % 01\02 C-3~C-5-~C-17
4 VU | 8- = X S
NLEF RS E (112267 270 (2) L Fuase = | 3k
] 10:00% &l (& . -
2 %fi) C. 72 ~&2: 5t
C-1-C-2~C-3-C5-C1T
SR ama zehr e (=) D15 %4 R W 18
N4 3 (F)% % |1124£6° 297 (=) D2F % FALp (3 H YV FAF L b ARFVPELL |y
Hpi 10:004= e 2% 1D)
i+ 7 E‘?E 1 ‘E 3 :'r [ 7
RS 0 | paresmeare
LgErR» FyAed L FTREL X RIFLEVERY 4 TRERIPN FTRIR LR (2
FYFRRAFE D FREFRE -
FE Bz 2.AIER Y Y FAY A FHE SRR B LE - Bd 44 UPDFRLE L @ -
3.D - 1-D-2-D-3% £ 53 A0 h (FHEBE P BFAL -
b XA REAE L2440 11260 29 (7)10:0042 2 Metgé TR (43 Fa/p Bn) it o2
ﬁ%%%*ﬂ? TOoTR IR o R pIGayE 0 £20112867 9p (1 fELP\ i%? AR R FEF AR
~ B AN U AP RUPEE - A Fapad $4 56
a Ph THE R QIRTY A AT U 5T

112

347




